JL_

Using the Identity Property of Addition Name:
Solve each problem. Answers
) 0+12= 2 0+6=
- - 1.
2.
3 0+10= 4 0+9=
- - 3.
4,
5 2+0= 6) 19+0=
- - 5.
6.
) 3+0= 8 0+11=
- - 7.
8.
9 0+16= 100 4+0= .
10.
11) 0+18= 12) 13+0= "
12.
13) 15+0= 14) 408+ 0= -
14.
15 458+0= 16) 257+0= s
16.
17) 0+782= 18) 403+0= .
18.
19) 927+0+= 20) 0+425= "
20.
1-10 195|90|85(80|75]|70| 65|60 |55|50
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Using the Identity Property of Addition

Name:

Answer Key

Solve each problem. Answers
1) — 2) =
0+12 12 0+6 6 . 12
2 6
3) = 4) =
0+ 10 10 0+9 9 . 10
4 9
5 2+0= 2 6) 19+0= 19 5
5
6 19
) 3+40= 3 8 0+11= 11 3
7
8 11
9 = 10 =
) 0+16= 16 ) 4+0=_ 4 9 16
10 4
11) 0+18=_ 18 12) 13+0=_13 " 18
12 13
13) 15+0= 15 14) 408+ 0= 408 1 15
14, 408
15) 458+ 0= 458 16) 257+0= 257 15 458
16. 257
17) 0+782= 782 18) 403+0= 403 17 782
18, 403
190 927+0= 927 20) 0+425= 425 19 0927
20. 425
1-10 {95190(85(80|75|70| 65|60 |55|50
[ M ath ] Wwww.CommonCoreSheets.com 1 11-20(45(40135|30(25(20|15|10| 5| O
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Using the Identity Property of Addition Name:
Solve each problem. Answers
) 0+2= 2 0+9=
- - 1.
2.
3 17+0= 4) 6+0=
- - 3.
4,
5 18+0= 6) 15+0=
- - 5.
6.
) 0+8= 8 0+12=
- - 7.
8.
9 11+0= 10) 16+0= .
10.
1) 0+1= 12) 0+10=
- — 11.
12.
13) 20+0= 14) 0+248= s
14.
15 0+507= 16) 0+577= 5
16.
17) 0+974= 18) 175+0= .
18.
19) 270+0= 20) 167+0= 19
20.
1-10 195|90|85(80|75]|70| 65|60 |55|50
[ M a.th ] Wwww.CommonCoreSheets.com 2 11-20(45(40|35|30|25(20|15|10| 5| O




ﬂh Using the Identity Property of Addition Name. Answer Key

Solve each problem. Answers
) 0+2= 2 2 0+9=_9 2
1.
2 9
3 17+0= 17 4 6+0= 6 17
3,
4 6
5 18+0= 18 ® 15+0=_15 5 18
6 15
) 0+8= 8 8 0+12= 12 , 3
8 12
9 11+0= 11 10) 16+0= 16 ° 11
10. 16
1) 0+1= 1 12) 0+10=__ 10 u 1
12 10
13) 20+0= 20 14) 0+248= 248 1 20
14, 248
15 0+507= 507 16) 0+577= 577 15 507
16. 577
17) 0+974= 974 18) 175+0= 175 . 974
18 175
19 270+0= 270 20) 167+0=_167 9. 270
20. 167

M th 2 1-10 |95]90|85|80|75[ 70| 65[ 60|55 |50
a www.CommonCoreSheets.com 11-20145140|35|30|25|20(15|10| 5| O
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Using the Identity Property of Addition Name:
Solve each problem. Answers
) 0+17= 2 1+0=
- - 1.
2.
3 2+0= 4) 8+0=
- - 3.
4,
5 0+13= 6) 5+0=
- - 5.
6.
) 0+3= 8 16+0=
- - 7.
8.
9 6+0= 10) 20+0= .
10.
11) 0+4= 12) 14+0= u
12.
13) 0+9= 14) 0+390= "
14.
15) 0+942 = 16) 200+0= 5
16.
17) 391+0= 18) 328 +0= .
18.
19) 0+322= 20) 0+ 741= 19
20.
1-10 195|90|85(80|75]|70| 65|60 |55|50
[ M a.th ] Www.CommonCoreSheets.com 3 11-20(45(40|35|30|25(20|15|10| 5| O
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Using the Identity Property of Addition

Name:

Answer Key

Solve each problem. Answers
1) — 2) —
0+ 17 17 1+0 1 . 17
2, 1
3 2+0= 2 4 8+0= 8
3, 2
4 8
5 = 6 =
) 0+13= 13 ) 5+0=_5 5 13
6 5
) 0+3= 3 8 16+0= 16 3
7
8 16
9 6+0= 6 10) 20+0= 20 6
9
10. 20
11) 0+4= 4 12) 14+0=_ 14 " 4
12 14
13) 0+9= 9 14) 0+390= 390 " 9
14. 390
15) 0+942= 942 16) 200+0=_ 200 15 942
16. 200
17) 391+0= 1391 18) 328+0= 328 . 391
18. 328
19) 0+322= 322 200 0+741= 741 19 322
20. 741
1-10 {95190(85(80|75|70| 65|60 |55|50
[ M a.th ] Www.CommonCoreSheets.com 3 11-20(45(40135|30(25(20|15|10| 5| O
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Using the Identity Property of Addition Name:
Solve each problem. Answers
1) 0+18= 2 2+0=
- - 1.
2.
3 13+0= 4 3+0=
- - 3.
4,
5 17+0= 6) 19+0=
- - 5.
6.
) 6+0= 8 0+15=
- - 7.
8.
9 0+10= 10) 14+0= .
10.
11) 0+ 8= 12) 16+0= "
12.
13 0+7= 14) 561+0= "
14.
15 779+0= 16) 361+0= 5
16.
17) 698+ 0= 18) 332+0= .
18.
19) 697 +0= 20) 535+0= "
20.
1-10 195|90|85(80|75]|70| 65|60 |55|50
[ M ath ] Wwww.CommonCoreSheets.com 4 11-20(45(40|35|30|25(20|15|10| 5| O




ﬂh Using the Identity Property of Addition Name. Answer Key

Solve each problem. Answers
1) 0+18= 18 2) 2+0= 2 18
1.
2. 2
3 13+0= 13 4 3+0= 3 13
3.
4. 3
5 17+0= 17 6) 19+0= 19 : 17
6. 19
) 6+0= 6 8 0+15= 15 , 6
8. 15
9 0+10= 10 10 14+0=__14 9 10
10. 14
1) 0+8= 8 12) 16+0=_ 16 u 8
12 16
13) 0+7= 7 14) 561+0= 561 a 7
14, 561
15) 779+0= 779 16) 361+0=_ 361 15 779
16. 361
17 698+0= 698 18) 332+0=_332 17 698
18, 332
19) 697+0= 697 20) 535+0=_535 19 697
20, 535

M th 4 1-10 |95]90|85|80|75[ 70| 65[ 60|55 |50
a www.CommonCoreSheets.com 11-20145140|35|30|25|20(15|10| 5| O
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Using the Identity Property of Addition Name:
Solve each problem. Answers
1) 0+9= 2) 0+2=
- - 1.
2.
3 6+0= 4 0+19=
- - 3.
4,
5 5+0= 6) 0+7=
- - 5.
6.
) 0+11= 8 0+12=
- - 7.
8.
9 16+0= 10) 18+0= o
10.
11) 4+0= 12) 0+14 = "
12.
13) 1+0= 14) 0+889= "
14.
15 0+152= 16) 0+ 647 = 5
16.
17) 0+484= 18) 476+ 0= .
18.
19) 0+419= 20) 0+922= 1
20.
1-10 195|90|85(80|75]|70| 65|60 |55|50
[ M ath ] Www.CommonCoreSheets.com 5 11-20(45(40|35|30|25(20|15|10| 5| O
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Using the Identity Property of Addition

Name:

Answer Key

Solve each problem. Answers
1) 0+9= 9 2 0+2= 2 9
1.
2 2
3 6+0= 6 4 0+419= 19 6
3.
4 19
5 5+0=_ 5 6 0+7=_7 5
5
6 7
7 = 8 =
) 0+11 11 ) 0+ 12 12 . 11
8 12
9 = 10 =
) 16+0= 16 ) 18+0=__18 9 16
10. 18
11) 4+0= 4 12) 0+14= 14 " 4
12. 14
13) 1+0= 1 14) 0+889= 889 " 1
14. 889
15 0+152= 152 16) 0+647= 647 15 152
16. 647
17) 0+484= 484 18) 476 + 0= 476 . 484
18 476
19) 0+419= 419 20) 0+922=_ 922 19 419
20, 922
1-10 {95190(85(80|75|70| 65|60 |55|50
[ M ath ] Www.CommonCoreSheets.com 5 11-20(45(40135|30(25(20|15|10| 5| O
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Using the Identity Property of Addition Name:
Solve each problem. Answers
1) 3+0= 2 0+5=
- - 1.
2.
3 0+19= 4 0+12=
- - 3.
4,
5 10+0= 6) 4+0=
- - 5.
6.
) 0+11= 8 16+0=
- - 7.
8.
9 0+1= 100 0+14= .
10.
11) 0+18= 12) 0+20= "
12.
13) 8+0= 14) 723+0= "
14.
15) 914+0= 16) 417+0= .
16.
17) 384+0= 18) 648+ 0= .
18.
19) 0+265= 20) 0+874= 19
20.
1-10 195|90|85(80|75]|70| 65|60 |55|50
[ M a.th ] Www.CommonCoreSheets.com 6 11-20(45(40|35|30|25(20|15|10| 5| O
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Using the Identity Property of Addition

Name:

Answer Key

Solve each problem. Answers
) 3+0= 3 2) 0+5= 5 3
1.
2 S
3) - 4) =
0+19 19 0+12 12 N 19
4, 12
5 = 6 =
) 10+0 10 ) 4+0 4 . 10
6. 4
7 = 8 =
) 0+11 11 ) 16+0 16 . 11
8 16
9 0+1= 1 10) 0+14= 14 . 1
10, 14
11) 0+18= 18 12) 0+20= 20 u 18
12 20
13) 8+0= 8 14) 723+0= 723 3 8
14, 723
15) 914+0= 914 16) 417+0= 417 15 914
16. 417
17) 384+0= 384 18) 648+0= 648 . 384
18. 648
19) 0+265= 265 200 0+874= 874 1 265
20. 874
1-10 [95] 90 85]80] 75| 70] 65] 60 55 | 50
[ Math ] www. CommonCoreSheets.com 6 11-20[45[40[35]30|25]20]15[10[ 5 | 0
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Using the Identity Property of Addition Name:
Solve each problem. Answers
1) 5+0= 2 10+0=
- - 1.
2.
3 0+18= 4 0+15=
- - 3.
4.
5 0+13= 6) 4+0=
- - 5.
6.
) 1+0= 8 9+0=
- - 7.
8.
9 0+14= 100 11+0= .
10.
11) 16+0= 12) 0+2= "
12.
13 0+7= 14) 0+135= "
14.
15 578+0= 16) 0+621= 5
16.
17) 636+0= 18) 0+986= .
18.
19) 790+0= 20) 959+ 0= 1
20.
1-10 {95]90|85(80| 75| 70| 65| 60|55 |50
[ M ath ] Wwww.CommonCoreSheets.com 7 11-20|145|40(35|30(25(20|15|10( 5| O
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Using the Identity Property of Addition

Name:

Answer Key

Solve each problem. Answers
) 5+40= 5 2) 10+0= 10 5
1.
2 10
3) - 4) -
0+18= 18 0+15=_ 15 2 18
4. 15
5 = 6 =
) 0+13=_ 13 ) 4+0=_ 4 : 13
6 4
N 1+0=_ 1 & 9+0=_9 1
7
8 9
9 = 10 =
) 0+14= 14 ) 11+0=__ 11 9 14
10. 11
1) 16+0= 16 12 0+2=_ 2 1 16
12 2
13) 0+7= 7 14) 0+135= 135 " 7
14. 135
15) 578+ 0= 578 16) 0+621= 621 15 578
16. 621
17) 636+0= 636 18) 0+986= 936 17 636
18, 986
19) 790+0=_ 790 20) 959+0=_ 959 w790
20. 959
1-10 195|90|85(80|75]|70| 65|60 |55|50
[ M ath ] Wwww.CommonCoreSheets.com 7 11-20(45(40135|30(25(20|15|10| 5| O




JL_

Using the Identity Property of Addition Name:
Solve each problem. Answers
1) 0+15= 2 16+0=
- - 1.
2.
3 14+0= 4 11+0=
- - 3.
4,
5 0+20= 6) 0+4=
- - 5.
6.
) 17+0= 8 18+0=
- - 7.
8.
9 0+7= 100 0+2= .
10.
11) 10+0= 12) 6+0= "
12.
13) 12+0= 14) 834+0= "
14.
15) 0+ 788= 16) 0+637= 5
16.
17) 705+0= 18) 0+527= .
18.
19 0+815= 20) 108+ 0= "
20.
1-10 195|90|85(80|75]|70| 65|60 |55|50
[ M ath ] Www.CommonCoreSheets.com 8 11-20(45(40|35|30|25(20|15|10| 5| O




ﬂh Using the Identity Property of Addition Name. Answer Key

Solve each problem. Answers
) 0+15= 15 2) 16+0= 16 15
1.
2 16
3 14+0= 14 4 11+0= 11 14
3.
4. 11
5 0+20= 20 ) 0+4=__4 : 20
6. 4
) 17+0= 17 8 18+0= 18 , 17
8 18
9 0+7= 7 100 0+2= 2 . 7
10. 2
11) 10+0= 10 12 6+0=_6 1 10
12 6
13) 12+0= 12 14) 834+0= 834 1 12
14, 834
15 0+788= 788 16) 0+637= 637 15 788
16. 637
17) 705+0= 705 18) 0+527= 527 17 705
18 527
19) 0+815= 815 20) 108+0=_ 108 1. 815
20. 108

M th 8 1-10 |95]90|85|80|75[ 70| 65[ 60|55 |50
a www.CommonCoreSheets.com 11-20145140|35|30|25|20(15|10| 5| O
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Using the Identity Property of Addition Name:
Solve each problem. Answers
) 0+6= 2) 14+0=
- - 1.
2.
3 2+0= 4 0+15=
- - 3.
4,
5 8+0= 6) 0+1=
- - 5.
6.
) 0+3= 8 0+17=
- - 7.
8.
9 0+10= 100 4+0= .
10.
11) 0+20= 12) 16+0= "
12.
13) 18+0= 14) 928 +0= "
14.
15 899+0= 16) 188+0= 5
16.
17) 117+0= 18) 908+ 0= 17
18.
19) 182+0= 20) 936+ 0= "
20.
1-10 195|90|85(80|75]|70| 65|60 |55|50
[ M ath ] Www.CommonCoreSheets.com 9 11-20(45(40|35|30|25(20|15|10| 5| O




ﬂh Using the Identity Property of Addition Name. Answer Key

Solve each problem. Answers
) 0+6= 6 2) 14+0= 14 6
1.
5 14
3 2+0= 2 4 0+15= 15 2
3.
4 15
5 8+0= 8 6) 0+1= 1 ) 3
6 1
7 0+3= 3 8 0+17= 17 . 3
8 17
9 0+10= 10 100 4+0=_ 4 o 10
10. 4
11) 0+20= 20 12) 16+0=_16 " 20
12 16
13) 184+0= 18 14) 928+0= 928 3 18
14, 928
15) 899+0= 899 16) 188+0=_ 188 15 899
16. 188
17) 117+0= 117 18) 908+0= 908 . 117
18, 908
190 182+0= 182 200 936+0= 936 1 182
20, 936

M th 9 1-10 |95]90|85|80|75[ 70| 65[ 60|55 |50
a www.CommonCoreSheets.com 11-20145140|35|30|25|20(15|10| 5| O
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Using the Identity Property of Addition Name:
Solve each problem. Answers
1) 164+0= 2) 0+20=
- - 1.
2.
3 14+0= 4) 18+0=
E— E— 3.
4,
5 10+0= 6) 9+0=
- - 5.
6.
) 0+4= 8 0+13=
- - 7.
8.
9 11+0= 10) 17+0= .
10.
11) 2+0= 12) 0+1=
- - 11.
12,
13) 3+0= 14) 124+0= s
14.
15 269+0= 16) 830+0= 5
16.
17) 781+0= 18) 0+878= .
18.
19) 661+0= 20) 0+285= 19
20.
1-10 195|90|85(80|75]|70| 65|60 |55|50
[ M ath ] Wwww.CommonCoreSheets.com 10 11-20(45(40|35|30|25(20|15|10| 5| O
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Using the Identity Property of Addition

Answer Key

Solve each problem.

1) 16+0= 16

3 14+0= 14

5 10+0= 10

) 0+4= 4

9 11+0= 11

1) 2+0=_ 2

13) 3+0=_3

15 269+0=_ 269

17) 781+0= 781

19) 661+0= 661

2) 0+20=

4)

6)

8)

10)

12)

14)

16)

18)

20)

124+ 0=

830+0=

0+878=

0+285=

Answers

1 16
2. 20
3 14
4, 18
5 10
6 9

7 4

8 13
9 11
10, 17
11, 2
12, 1
13 3
14, 124
15, 269
16. 830
17, 781
18. 878
19, 661
20, 285

[ M ath ] www.CommonCoreSheets.com
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